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BN N E— M ~0Z BB, HELSRERE
BB Emask, EEIRTHM,
BFEOT.

6
10

20
30
40
50
60
65
70
80
90
100
110
120
130
140
150
160
170
180

Y=90

INPUT “IF YOU TAKE FIRST, TYPE 1,
OTHERWISE TYPE 2”7 ; P

IF P=1 THEN 50

X=5

PRINT “I TAKE ?; X

Y=Y+X

INPUT YOU TAKE "y X

IF X>9 OR X<1 THEN 60

Y=Y+X

PRINT “THE SUM IS 7, Y

IF Y>>=75 THEN PRINT “YOU WIN!”; END
X=1

IF Y+X~-INT((Y+X)/10)+10=5 THEN 150
X=X+1

IF X<10 THEN 110

X =INT(10 RND(O) + 1)

PRINT “I TAKE” ; X

PRINT “THE SUM IS” ; Y+X

IF Y+X>=175 THEN PRINT “] WINJ” , END
GOTO 50
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IFYOU TAKE FIRST,TYPE 1,OTHERWISE TYPE 271

iR A1,
YOU TAKE}
THE SUM IS
1 TAKE 9
THE SUM IS
YOU TAKE:
THE SUM IS
I TAKE 8
THE SUM IS
YOU TAKE?
THE SUM IS
] TAKE 5
THE SUM IS
YOU TAKE?
THE SUM IS
1 TAKE 1
THE SUM IS

2
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7

22

25
6
30
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9
44
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YOU TAKEq
THE SUM IS
I TAKE 6
THE SUM IS
YOU TAKE;
THE SUM IS
I TAKE 7
THE SUM 18
YOU TAKEs
THE SUM IS
I TAKE 9
THE SUM IS
I WIN

Bk

4
49

55
3

58

65

1

66
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IF YOU TAKE FIRST, TYPE 1, OTHERWISE TYPE 27 2

I TAKE &

YOU TAKE;
THE SUM IS
I TAKE &

THE SUM IS
YOU TAKE¢
THE SUM IS
I TAKE 7

THE SUM IS
YOU TAKEq
THE SUM IS
1 TAKE 8

THE SUM IS
YOU TAKE:
THE SUM IS

5
10

15
8
18

25
K
32

35
8
38




1 TAKE 7
THE SUM 1S
YOU TAKE?
THE SUM IS
I TAKE 8
THE SUM IS
YOU TAKE:
THE SUM IS
I TAKE 1
THE SUM IS
YOU TAKE?
THE SUM IS
I TAKE 2
THE SUM IS
I WIN|
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B AREE BREAEPHETTUL 14,245,
54y SRR A, MALARL,
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AR IERAn T

GAME TO CATCH NUMBER

.

RULES ONCE INPUT X=1, 2, 3, 5, 6,7 OR 8.
FIRST ALLOW 0.
MUST NUMBER N>=20

INPUT N=¢ 54

X=7 8

YOU INPUT B8 NOW SUM=38

I INPUT 7 NOW SUM=15

X=1 8

YOU INPUT 8 NOW SUM=23

1 INPUT 6 NOW SUM=28

X=3 8

YOU INPUT 8 NOW SUM-=36

1 INPUT 6 NOW SUM-=41
. X=¢ 8

YOU INPUT 8 NOW SUM=49

1 INPUT 5 NOW SUM=54
. I WINt YOU LOSE;

ANOTHER GAME? Y OR N

¢ N

OK{ HOPE YOU ENJOYED YOURSELF.



BFuoT,
10 PRINT GAME TO CATCH NUMBER”
20 PRINT: PRINT “RULE, ONCE INPUT X=1,
2, 3, 5, 6, 7 CR 8.”
30 PRINT ¢ FIRST ALLOW 0.”
40 PRINT ¢ MUST NUMBER N>>=20”
50 PRINT:; PRINT: PRINT “INPUT N=",
60 INPUT N
70 [F N<20 THEN 20
9 S=0, Z=0; N=INTND
100 PRINT ¢X=",
110 INPUT X
120 IF X<0 OR X>>8 THEN 320
125 IF X=4 THEN 320
130 IF INT(X)< »X THEN 320
140 S=S+X
150 PRINT “YOU INPUT °; X, “NOW SUM="; §
160 IF S=N THEN 330
170 IF S>N THEN 340
180 IF N-S<=8 THEN 350
200 IF N-S~Z<13 THEN 230
210 IF N~-S-Z=13 THEN Y=5, GOTO 260
220 Z=2Z+13 GOTO 200
230 [F N-S-Z=4 THEN Y=1, GOTO 260
240 IF N-S-Z<=8 THEN Y=N-S-Z, GOTO 260
250 Y=N-S-Z-14
260 S=S+Y:1Z=90
270 PRINT 4 INPUT *, Y, “NOW SUM=?, S
280 PRINT 4X=7,
290 INPUT X
e 6 o



300
310
320
330

340

350
360
370
380
400
4190
420
430

THRPLE—A0~50Z MR, iLKE, HKITA —4

IF X=0 THEN 320

GOTO 120

PRINT: PRINT “ERRORI1” : GOTO 280
PRINT: PRINT “YOU WIN VERY GOODI,
GOTO 400

PRINT: PRINT “I WINI YOU LOSE! ? ,
GOTO 400

IF N-S=4 THEN Y=1:GOTO 260

Y=N-S

PRINT “I INPUT”; Y, “NOW SUM=”N
GOTO 340

PRINT + PRINT “ANOTHER GAME; Y OR N”?
INPUT BS

IF B$= Y’ THEN 10

PRINT : PRINT; PRINT “OKi HOPE YOU
ENJOYED YOURSELF.”

END
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“YOU HIT IT]} IT IS 30] ”

BREAT.

10 Y=01Z=50:1=0

20 X=INT (RND (0) * 49)+1

30 PRINT Y, 4< X >"; 7

40 PRINT “YOU HAVE GUESS *, I, “TIMES.”

B0 T=l+1

60 INPUT N

70 IF N=X THEN 110

80 IF N<X THEN !F N2> Y THEN Y=N

80 IF X<N THEN IF N <Z THEN Z=N

100 GOTO 30

110 PRINT 4YOU HIT IT11 ITIS " N

120 END

BTILRMT,

0< X > 50

YOU HAVE GUESS 0 TIMES.(R¥ET %%
728 R 3528)

28< X >50 -

YOU HAVE GUESS 1 TIMES.RBT 1 %)
740

28< X >40

YOU HAVE GUESS 2 TIMES. (/BT 2 %
933

33X >40

YOU HAVE GUESS 3 TIMES.RET 8 %)
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137
< X 40

YOU HAVE GUESS 4 TIMES. WRHT 4k
238

YOU HIT IT11 IT IS 38 GER T, A38)
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HIT: 1 BLOW : 2
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BAXHAH,
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B, HEALAITEN N,

HIT: 1 BLOW : 1

MR PR R, TREBLITED.

ALL HIT IN n TIMES
n 53 R KRB,

BITIERAT
%“Zk:

WHAT IS YOUR GUESS? 4444

HIT:1 BLOW:3

(H—AM By, HMEESES, LETRD

WHAT IS YOUR GUESS? 555



HIT:1 BLOW:3

WHAT IS YOUR GUESS; 4587

HIT:3 BLOW:0 (HEARMTD

WHAT IS YOUR GUESSy 4589

HIT:3 BLOW:0

WHAT IS YOUR GUESS? 4569

ALL HIT IN 5 TIMES! ERMMT, BTHI
Bk

WHAT IS YOUR GUESS: 1234

HIT:+ 0 BLOW:2z (BZAKS, IR

WHAT IS YOUR GUESS? 9876

HIT:0 BLOW:1

WHAT 1S YOUR GUESS? 5678

HIT:0 BLOW:1

WHAT 1S YOUR GUESS7 1965

HIT:3 BLOW:0 .

WHAT 1S YOUR GUESS; 4985

HIT:3 BLOW:0

WHAT IS YOUR GUESS? 4905

HIT:3 BLOW:¢

WHAT IS YOUR GUESSt 4915

ALL HIT IN 7 TIMES: ks

BRMT,

5 L=0

10 FOR I=1TO 4

20 A(D) =INT(RND(O) * 10)
30 IF I<=1 THEN 8¢

49 FOR J=1TO I-1

50 IF A=A THEN 20

o. IO »



